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1. The point P(—2,—5) lies on the curve with equation y=f(x), x e R

Find the point to which P is mapped, when the curve with equation y = f(x)
is transformed to the curve with equation

(@) y=1f(x)+2
(b) y = [f(x)]
(c)y=3f(x—2)+2

A (-2, -3)
4 \ § >4

*a

(1)

0y

2

by (-2,5)
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Question 1 continued

(Total for Question 1 is 4 marks)
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2. f(x) = (x —4)(x> — 3x + k) — 42 where £ is a constant

Given that (x + 2) is a factor of f(x), find the value of .

Wwhen x- -2 (C(-2)=-O
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Question 2 continued

(Total for Question 2 is 3 marks)
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3. A circle has equation
x*+y*—10x + 16y =80
(a) Find
(i) the coordinates of the centre of the circle,

(i1) the radius of the circle.

3)
Given that P is the point on the circle that is furthest away from the origin O,

(b) find the exact length OP
(2)

x?- 10 4—52 oy = RO

_(:&-'5\2— 2SS a—fun-%\a-@-\- 5 - {e)
P - 7

2 2
f\:;-s) 4—(\34—9) = S

distece o< : J3Sreu
= Jea
s
o \_ distnce or: Jehr 13
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Question 3 continued

(Total for Question 3 is 5 marks)
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()
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6.3 2
) 2
lim —ox =Ink
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Question 4 continued

(Total for Question 4 is 3 marks)
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5. The height, & metres, of a tree, ¢ years after being planted, is modelled by the equation
R=at+b  0<t<25
where a and b are constants.

Given that
» the height of the tree was 2.60m, exactly 2 years after being planted
+ the height of the tree was 5.10m, exactly 10 years after being planted

(a) find a complete equation for the model, giving the values of @ and b to 3 significant figures.

“4)
Given that the height of the tree was 7m, exactly 20 years after being planted
(b) evaluate the model, giving reasons for your answer.
(2)
E2 h:2.6
€:\o h=g.\
2.6%-. A 4+ o
L S)* =0a +o
$.12-26" = 8a Q="M b= e
32 IO
" 2.4k + LS
1:20 h:="m
N w82 +\..95
hs: so\S
h:2m0s
nNnecrestT metra
\ ) &

10
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Question 5 continued

(Total for Question 5 is 6 marks)
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Figure 1

AN

Figure 1 shows a sketch of a curve C with equation y = f(x) where f(x) is a cubic
expression in Xx.

The curve
* passes through the origin
* has a maximum turning point at (2, 8)

* has a minimum turning point at (6, 0)
(a) Write down the set of values of x for which

f'(x) <0
(1)

The line with equation y =k, where k is a constant, intersects C at only one point.

(b) Find the set of values of &, giving your answer in set notation.

(2

(c) Find the equation of C. You may leave your answer in factorised form.

€))

o) f'(x)co 2cexcl

s 2;: ;co:B ) zl:'. > el\

C

2 O, oo

o x (el cy

ct (a.8) c.(_a)/c._\,)‘*: s

~ > 4

a:=:S

Q)

U

.

Clxy 2 L x(==-0)"

[T
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(Total for Question 6 is 6 marks)
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s

7. (1) Given that p and g are integers such that
pq is even

use algebra to prove by contradiction that at least one of p or ¢ is even.
3)

(i1) Given that x and y are integers such that

e x<0
© (xtyP<oxrt)y?

show that y > 4x

et C:=2ma\
N L+ 2n Y2+

( 2n+)(2E+)

Q= RAS 41\
2(Zknr+mn ) o)

P Q. MUST B2 even
.l.) oc?., 2&3 -}31 & Ax* ‘\'&a
2% & €=x?
o & Sxt- 2oy

°o & 2x(&x-y)
’ .
N N
W -y <O wrole eguction Yo b2 posiive
Lx cy

14
— RN O O B
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(Total for Question 7 is 5 marks)
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Figure 2
A car stops at two sets of traffic lights.

Figure 2 shows a graph of the speed of the car, vms™, as it travels between the two sets
of traffic lights.

The car takes 7 seconds to travel between the two sets of traffic lights.

The speed of the car is modelled by the equation
v=(10—-0.4¢)In(z+ 1) 0<t<T

where ¢ seconds is the time after the car leaves the first set of traffic lights.
According to the model,

(a) find the value of T
1)

(b) show that the maximum speed of the car occurs when

26
t=—————1
1+ In(z+1)
“4)

Using the iteration formula

"1+ 1In +1)
with ¢ =7
(c) (i) find the value of 7, to 3 decimal places,

(i1) find, by repeated iteration, the time taken for the car to reach maximum speed.
3)
v=(10—-10.4¢) In(z+ 1)
when V= O C-o.4:=2©
\n(E+x) =0 00 := &t T =25
\n\:0

t:o0 (airead_cj gwlan)
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(Total for Question 8 is 8 marks)
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9.
Q
R
P
S
Figure 3
Figure 3 shows a sketch of a parallelogram PORS.
Given that
%
« PO=2i+3j—-4k
%
* QOR=5i-2k
(a) show that parallelogram PORS is a rhombus.
(2)
(b) Find the exact area of the rhombus PORS.
“4)
\e@| = ju-+q+u. = J2a
LT Jas+u : Ja9

os wewe been tolo vts e mmlwﬂt@g;
+s also a
-_—> . .
PR T T « 3) -6k

Q 29
Pl = ,l-\-ﬂo+=i+36 {79/7" "
a
: Jag

G%. b2+ - 2bc s
29 A N =294+ 26 - (2¥26 cosA
3 =-S8as A
\ eed! exock
-_._g - CosaA vahs2
b =Y
s .18 cohose
SVMQP s posve
Areg triege = 1l A8 s»ma '
2
Area Rhavbog
- ¥ * x JSW\y - J;n :Et‘)
2 26 2
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( )

10. A scientist is studying the number of bees and the number of wasps on an island.
The number of bees, measured in thousands, N, , is modelled by the equation
N, =45+ 220"
where ¢ is the number of years from the start of the study.
According to the model,

(a) find the number of bees at the start of the study,
(1)

(b) show that, exactly 10 years after the start of the study, the number of bees was
increasing at a rate of approximately 18 thousand per year.

3)
The number of wasps, measured in thousands, N , is modelled by the equation

N =10+ 800¢ %

w

where ¢ is the number of years from the start of the study.
When ¢ = T, according to the models, there are an equal number of bees and wasps.

(c) Find the value of 7 to 2 decimal places.
“4)

Q) €:=o Np: S+ 220 = 265
2SO0 bees
. oSkt
B)  N=45+220e" e : 200x0.0S xR

(e W —
s e

21g &

okt €O gf) = \8.1359
de

2 2 - = = 1829 y: -19%8
\ onciffiredt )
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11. Sg w 4\
y4 C,
CZ
>
0 X
s 2%
¥ ex*

Figure 4

Figure 4 shows a sketch of part of the curve C, with equation
y=2x*+10 x>0
and part of the curve C, with equation

y=42x—-15x>-7 x>0

1
(a) Verify that the curves intersect at x = 5

The curves intersect again at the point P

(b) Using algebra and showing all stages of working, find the exact x coordinate of P

2‘1:34— O W2 - 1S -1

2)

©))

24@34-6&7--«.\-'2:.»_ +1M=0

|

x 2 LS 2V a4 - O

33
2 = o

.o mid s a eV o wwiersecthoN
=2

x 2 s 2°o0c-\ \S a e

xx2 +» B3 — I

20 -1 \ 2> -\ S - X2oC 4 VM

2> - =*

Voot - w2 _

\oxx* — 8=

3% oC 4+

= 3 1

) R 0O R0
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12.

In this question you must show all stages of your working.

- Solutions relying on calculator technology are not acceptable.

Show tflat
e2
I X*Inxdx =ae® +b
1

where a and b are rational constants to be found.
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13. (i) In an arithmetic series, the first term is ¢ and the common difference is d.

Show that

S = g [2a + (n— 1)d]

(i1) James saves money over a number of weeks to buy a printer that costs £64

He saves £10 in week 1, £9.20 in week 2, £8.40 in week 3 and so on, so that the
weekly amounts he saves form an arithmetic sequence.

Given that James takes n weeks to save exactly £64

(a) show that

n*—26n+160=0

(b) Solve the equation

n*—26n+160=0

(c) Hence state the number of weeks James takes to save enough money to buy the
printer, giving a brief reason for your answer.

)

2)

(1)

(1)

V) Sa : A o (ara) +(a-—2d)+.., + a{n-2Dad  +» a(n1)A

SA = aa(M-Nd a-(aa-(n-g.g,\a— aidn-Dd + ... +ard

Q

2SA = 2a +(n-Ya ¥ 22arp-r)d y 2ax(n-Vd + ...

2Sn = Nx(2e + (n-\)d)

SA = 0 (Q.G -l-(:\-\,‘)d)

2

—o-

.

~

ll‘l'ﬂ) 10.00 Q.20 .40

S.-, = A - Og(ﬂ-\)‘—l

o
2

z oA = O-Bn(n-))

ST \ON—- 0 A"A2 +~-0-%n

\On = 0-bn240.UNn = &
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Question 13 continued
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(Total for Question 13 is 7 marks)
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14. In this question you must show all stages of your working.
Solutions relying entirely on calculator technology are not acceptable.
(a) Given that

2sin(x — 60°) = cos (x — 30°)

show that
tanx = 3+/3 Sin
20: -0 ¥
(b) Hence or otherwise solve, for 0 < 6 < 180° 20+60> &
2sin26 = cos (26 + 30°) 20+60-30
giving your answers to one decimal place. F2W+20
“4)
ZSV'(\‘DC—Q:Q) : ASGCo360 - 2coS X S 6O
Co5 X-30 = ESXVCOSIO + NS 30
'
simx -JVBcosx - JBcesx + ) sSm=
=2 =2
Asmax = [IB 2 33) cos=
= =Y
S~ = S < ==
2 =2
Si=moc < 3J—3 <os =
Een=c =~ 3&
e
-bn"(\s.fa) = 719.2
X2 +60
20+60 = 192, 2552, 4352, .. .,
?: 96 996, 896
0: 96° 99.6° (10p)
.
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Question 14 continued
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(Total for Question 14 is 8 marks)
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15.

F

Figure 5

A company makes toys for children.
Figure 5 shows the design for a solid toy that looks like a piece of cheese.
The toy is modelled so that

» face ABC is a sector of a circle with radius »cm and centre 4

* angle BAC = 0.8radians

» faces ABC and DEF are congruent

* edges AD, CF and BE are perpendicular to faces ABC and DEF
* edges AD, CF and BE have length Zcm

Given that the volume of the toy is 240 cm?

(a) show that the surface area of the toy, Scm?, is given by

1680
S=0.8r*+ -
making your method clear.
“4)
Using algebraic differentiation,
(b) find the value of  for which S has a stationary point.
“4)
(c) Prove, by further differentiation, that this value of » gives the minimum surface area
of the toy.
(2)
Volome = 0.8 . 7rr? h
21
volome = O-ur?h
Q.L\.r-zh = 20
h:e00
r<
42
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Question 15 continued
S 29,08, nr + (2r+ 08B2TNr)h
2N 27
SA = 082 + 2crh+ O-8rh
sa = 0:8r2 4 2.8cn 00
»ns ?i
Sa:t O08r?24+ 2.9rx600O
3
Sa - ©0-8r2 4+ \68O
c
b)) dS = \-6r - \eBD
dr F’
whends : o 1-r>-\e8D -
dr —2
~3: oSO
=z 0. \e3%e ... ..
c: o2 (\p)
RS : 1.6+ 2(1680) : Vor313360
dr? 3 ~3
d_7$ N\ © gt r='02 so ths s a mMmrimom
dr* 7 sA
\\ J
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(Total for Question 15 is 10 marks)
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16.

=V

Figure 6

Figure 6 shows a sketch of the curve C with parametric equations

T
x = 8sin’t y=2sin2t+ 3sint 0<t<5

The region R, shown shaded in Figure 6, is bounded by C, the x-axis and the line with
equation x =4

(a) Show that the area of R is given by

J (8 — 8cos4t + 48sin® 7 cost)dt

0

where a is a constant to be found.

5)
(b) Hence, using algebraic integration, find the exact area of R.
N @
2swv2e + 3snE d=¢ x: 8sw»m*t
| dx - lbsntaost
@ dt
wis

%&Mnnb} ax = Vosintcost d€
(iesrtcost) de \nrtS

@ x: U Stk =
H 2s:A2E 4 S@M Sz
,% 2

- S \siAn22 + S22 }
s 2 Y \ dec  *°e st
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\esint2E = 8() — casyt)

( N
%lfstion 16 continued
:5 8- 8cos Lt +» UBswL2ccost de

- _ Ty !

= ‘ SL + s~ + e sa2t b

o
= [ 4+ Vo
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Question 16 continued

(Total for Question 16 is 9 marks)

TOTAL FOR PAPER IS 100 MARKS
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